it 38 5 R A AP A RO vl R B i I 6 58 50 I T IR 4 m 38R 4 B I B HEAS R 2T
B P B 5 BV IR AN SERAT A W] - Sl WIS > BEAS BE AR 23 7 2 e sl AT Ao S 1
H IR 28 17 2L 2 I 1R % 55 TR 28 1T 5 | ZCH AT AT IR AR I8 AT AR BT AT -

,’B{l’]

JF Household Furnishings Limited
HEYEXEHMSAERAFA
(BB A 7 19 A R A )

(B R3% = 0776)

BE-F-NERA=ZTHEANERPHFELE
LUt TR SR S INTE S IS ConoRps

) WA A (T K8 I
B A (G | A I ) RO — UAE A A = R A R A R
] % A B A A R e AR A

REE
MEAA=THLEAMEA
—e-mE %

ik FET T 5T
Yo =2 72,631 79,995
B e A (68,857) (75,389)
¥ 3,774 4,606
HAb s A 4 468 208
77 85 A (398) (297)
ATIECBA 2 (8,755) (12,901)
oA 58 45 B 57 (230) -
REEE (5,141) (8,384)
Rl & R A (1,308) (1,288)
BRER A5 18 (6,449) (9,672)
IRES N 5 _ _
R EE (6,449) (9,672)
Hip2mE :
AR E MR R IER ¢
B A SR T R A 2 B s S (2,427) 551
HAZHEIEEEE (8,876) (9,121)
BREE

FEA K T (A1) 7 (2.52) (4.04)




AR & M AR &
W ZE—EANHA =+FH

EREEE
E e
BEmE

B Y A 4

REEE

Te .

F&Hﬁ(‘%ﬁ%ﬁ%ﬁi

PR AL B T ) I

$i 4 ~ HAb RE SR IE M T 3R0H
52 BRI B 45 S BRAT A Bk
4 L SRAT 45 R

REEE

WA B2 T HR ik S A S48
HoAth A R TE K E R TE H
B3 700 T 4 £

RATIEHE

BRRBEE
EERERRBER

ERBEE
LR IH B 1R

REE
BEXK#E

s
e

HER

ff it

10

11

RAEEX S
R-E—NF p_F—=4F
~AH +=H
=+B  =t—H
FET T T
13,542 13,509
5,400 5,630
105,107 5,107
124,049 24,246
25,231 29,162
14,514 21,914
5,729 5,062
25,036 6,323
1,080 1,261
57,648 23,390
129,238 87,112
11,124 14,165
36,146 33,831
- 794
38,447 35,661
85,717 84,451
43,521 2,661
167,570 26,907
1,716 1,716
165,854 25,191
2,872 2,393
162,982 22,798
165,854 25,191




HRGERREER
w2 —E PN H =+ HIEATA

i — H — H AR B AR i
A i A )
— T IE S SRS I A 2 R B
— WA R
ST PR 2 i e 1E 4R

e B ey (Bt 11)

P A7 e A= 22 e i A6

A (5 0 P i P T 2 2 e ¥k 1

7N A = B AR SR B AR 7

BEANAZTHLAEA

—E-mFE —“F =4
(REER) CREFER)
FET T T
25,191 50,434
(2,427) 551
(6,449) (9,672)
(8,876) (9,121)
479 =
149,060 -
- 96
165,854 41,409




ERRERERER
w2 —E PN H =+ HIEATA

ALE T B T 1 2 B 4B T
BOERE) (), A B A
AETE A A (B ) Bl 4 A
RERRESEWEN ORD)BHE
R—A—BzRERRESEEY
ERGH o8

RAR=THEZRERREEEY

RERREEEYIH
B 45 S 8RAT & R

BEAA=THLEREAR
—F-nmNFE T =
(REEEHK) CREER)

FET T T
(14,566) (18,383)
(101,653) 6,265
151,017 (3,315)
34,798 (15,433)
23,390 36,260
(540) 142
57,648 20,969
57,648 20,969




B AR S B A R B AL

1.

—RERKEREE

AN TR 2B A LRSS ML A — R ER AR AR HE i Hbht
£ Cricket Square, Hutchins Drive, P.O. Box 2681, Grand Cayman, KY1-1111, Cayman
Islands » 3= 224 S L B 74 75 5 b 3R 5678 P 168-200 915 15 Lo 3 7 &) K [ 24482410
24115 o RN A 2 B An A #5665 28 2 A BRA w] (T3S BT ) Fbl BT o

AN ) B PCE LN F] o AR RASE A BB BB LS OT (AR Al 2 el 251 ] ) 251 -
AT SR A B E R T IRIE B s e ah il & ([ W e ah il € 1) 30 1) & s o e
RIS 3498 T A 1 BA 5 # 2 | 2K DL S B s e 6 28 520 T A R Rl 88 2 B rr B (T B s
I 1) B Bk 1604 788 F 48 2% B 1T A e o

FESTEE

B T3 Ko il TR LA2SP-(E RS (VB ) A > A ff W 5555 B 0 4 JBE S A ik
A o

B F SOl Ab » i AR E —F AN H =4 H R E A A B 5 G BB EORHERS BT
PR G R EOR Ktk SR WA REEE —F —=4F 1+ A =1+ HILFEZY
5 ¥R I A A H ] -

RNE B BHEER ([ ZERBEHREER ) BFTET 2B RIEET

JAZAS v ST ] 72 B UE N B R A s A AR A B AR AR AR
S5 A B ) 7B 9 B 5 o T R 2 T R T e R AT

o VA AL HE RIS 1098 - AU RSO HE QISR 125 R A Er ah E R SR 278 T %
EEE | Z2BE

o EUEEHERS 258 [N A E L e A BT



o ElEEHERISE36%E [ JF & M AT U 0] SRR SRR I | 2 BT
o HEEFIENSE3YE [ MTAE TR ER e shi s 21887 &
o HFE(EEMBEARCSRRELZAEE) @m0 -

TP ZAS v S0 S0 ] R P 2t 7 s B i o Y ) 4R T e M A T % A L W R S BB R
v S ) B H B B % A6 R W 5 5 B S e R I S 2

*SI-

i)

ok

M

¥

JE%‘J?/\EE&H:{E PR BL M [ A m AT B (R ERALE TR ) 2 ERHE |
JIr S A ) B i R o U BT 5 > AR R B 00 20 A 5 S AR R ) SEBE W 8 AT 2

:‘z

B

A B AT R g B AR 2 ER

N EXE MERE st
Fits oo Tt oC T T

HE FESA=ZTHIEAMA

(R AEHAZ)
AN F 2 i 72,533 98 72,631
pams il - - -
pamii CEi=| (1,633) (144) (1,777)
R 2 55 - 55
FJE A 52 (1,144) - (1,144)
e (1,858) - (1,858)
HAhE R I LIHE -

—T& EYZE RAE R - (230) (230)

BRI T 1,886 - 1,886




THMRE

T#C
BE_FT—=FNA=1THIEASEH CREFHZ)
REINPEF 2 4 79,995
gl -
Samti) k= (2,332)
S 4 189
) 5B 3 (1,084)
s (2,224)
B IE M E & E 78

AR SR R A e SE AR I

BEAA=1THILAEA
—E-mE o F =
(REBER) (R EEHAZ)

FET T
W =
A R 2 AR R 72,631 79,995
HEB 40350 e 25 _ _
FI I 72,631 79,995
WS EE
AR A 2 AE s 4R (1,777) (2,332)
TR0 e il & AR (164) (204)
R ECASZERA 3 3
R B X (4,511) (7,139)
WA A R (6,449) (9,672)




H g A

BEXNA=tTHLAXER

—E—OF —E AR

(REEZ) (REEFH)

FET T T

B #iti B - 15
FLE WA 58 191
15 HE S U 4 409 _
HiAth 1 2
468 208

FRE®RE X
R A 52 [ 7% S0 A SIS R RO 0 ) > S B ZE gl A o R 1 LA L $8E 44

JHLAt L7 GBS Ui M) < 0 T B S BR P A S I A P A B B AR AR PR BLAT AT B
E] - R B -

HQ /%\

$%ﬁﬁﬁﬁﬁ ﬁi@ R AT AT BES, o 2 o 2 P I R A o 00 4 1 R A I
—E—ZUE )



BREE

B BCHEAS S R 1R SRS 51 B RO

B8

PR T A A e i e 1R
AN FRAT N B AL 1R

g 4=

PR st R B i S A e 4 Jes 4E
2 A IR 2

R F AN A = H AR A - Frf T 5 B B A S i

BEXA=TALAMEA
e L A=
GREEER)  CRAHFK)
FHT T
(6,449) (9,672)
255,732,000 239,333,000

A o

i

WE_F-WEANA=ZTHIEANMEA > AEFIREY - BE R eEmEy

1,892,000# 70 (—FE—=

FEUW B 5 BRK

: #)78,0004570)

AL — B T & T 302 90K W15 FII o A4 F B U B 2 MRk e 8 58 M) e A B A

BAY IR A an R

0F30K

31E 60K
61 90K
B H 90K

At

—g-mE  F =
KA=tE FoASt—H
(REFR) ()
FHT it
10,532 17,241
3,899 4,589

83 84

14,514 21,914




10. BNEZRRARENERE

JEAT B2 5 MRk
AR

—g-mE %=
XB=tR +HA=t+—H
(REZEXK) (HEH %)
F 8T Tl
11,124 13,760
- 405
11,124 14,165

PEIRE T 5 T A B B A5 B — R 2530 2890°K o A 4R [ IE A 52 5 AR s 8 5 10 i i

AT

0E30K

31E60K
61 £ 90K
B AH90 K

AEt

—E—-NF E =
AA=+H +ZHA=+—H
(REEZ) (%)
FHET T T
6,800 9,144
2,644 4,461
19 81
1,661 74
11,124 13,760

~-10 -



11. B

RoEE HE
Bt 72 T % T T
HE
FF I TEI{EL0.0 195 JC 2 %7 %
B FE—ZFE—H—H (8 500,000 5,000
T 4,500,000 45,000
ﬁA*%QiEJr*H*Jr H (8% 1) &
AT —PUAESS H =+ H CGREBHFZ) 5,000,000 50,000
FERCTE(HO.01 9 Jo 2 B 88 AT S B E -4 A
A FE A —H (%) 239,289 2,393
A7 {68 52 PR s PP 4 7 1 AR A (i) 50 -
A _FE -4 H =1 —H (8% 239,339 2,393
fic 5 B 7y (ii) 47,867 479
—P4ES A =+ H CREFZ) 287,206 2,872
7

©)

(i1)

BE T — =4+ A = Bk AR B $01.920 TT A (B AR AT (5% 5 HE RE T % AT

50,000 A% 4 F% T {EL0.0 1 76 70 /Y 328 % > 42 4CAE £596,00045 IC °

T F-AE—H A AR AR RS 148 TR B DAL N T A A

N TH)47,867,000 8 A3 T 4R - 4R T 45 s T A8 %R 49 150,302,000 7T ©

—11 =



12.

13.

BAAE
AR R IR Z EARIEUT ¢

E N VEN & ]
E R A E R A

REHERRE
REBER/FEEA

=t
~A=+H
(RIEEZ)

FET

8,158

—z—=

+oA=+—0

(KEH %)
T

8,309

ASAE B T B3 [ A B - 3t e 2 ) 2 A T AR e A B S A 2 R AR A AR A R A

wr

—4ER
BB (EIEE R W)

AEBER/HBAA

AR BARPEAS F] HE A T B U R AR R = F

—HN

12—

—E—OF —FE =
~NB=+H +—-H=+—H
(REEX) (REHHZ)
FET T T
1,941 619
1,548 85
3,489 704
—E—OF —F =
~A=+H +-HA=+—H
(REEX) (REH )
FET T T
- 63,027




N RME ST 2 BE TR wHE B DT 2 7 28 5 v 45 T P WA el e 1 5 i S A
ZABAE o LA 28 SRl R 458 6 19 2 SO MR 831 R A SR (E A A (E 1T 2 2 81
o3 i =R A -

BB AR F AR RN H AT A TR A R 0 R T i (OR A
B o

BRI SEC E EARIT AR 2 IR LA 2 B R M S E SR T B 2
BB BENARZIATBE2 Y.

AR ] 1) ORI S BGZ S 2 S IR D B A B R 1 = A8 R A P A A —
(GG NS L S

(@ R=Z-MOEXAZ+AR=ZE-=F+-A=+-ANDAEBRKTHRE:

/L\\ LE*E
RAWEL :
HE E=FBH&K
T-#C
KEMHDNAREE :
Ea L7/
EE— &
A E—PUEN A =1+ H (CREEZ) 5,400
W FE -2 H =1 H (8% 5,630
(b) WBEBEZEBREBAALETENEEHIE
—E—F
HE BREWE
(REEX)
T 0
—H—H 5,630
V@ﬁmﬁam%%%ﬁ@) (230)
WNH=1H 5,400
#) LG R s W 45 R RE T R & 2 S48 (230)

13-



(c)

P i S 24 PR B A R 2 P R RS A J TR AR AR (R A BT R R Y 1R T R M A
fH 2 S At 2 T e 2 2 A ) HABLAS 5 B SC R 51

R-B-NFARA=ZTHAR-Z-—=F+-A=+t—-HAKRERXRANMGER
FRAAEFERFKANGERMRSBOKE :

7 B ] 1% 5 A B B T B S O AT P AR 0 S R A U (ERT R (A
=GRS FUE R o P85 A8 B WU LS5 20 SO (EL R B 3% 1) 7 3 B o U A B
G R D WG A ERR T A B AR

U =R SRR S - A B 208 0 AR 0 PT SSE SEA J EA T

TR AR 2 SN (K

SRR RERH BT R A EEA TSRS EE

— AR CREA A A A A AT I ST 22 B 1) Sl 18 8 8 A 1) A A 2 5 SR B

fE e HZ b5

— MEEEE RN E R A

— RUNZEEL LR E R EUE A E)

EZERDIAETE

THBE

HH HERMN 28

TEW iy Gk Wik

P 22 5L

TR 22 5

0.26% —
8.56%

1.00% —
3.50%

0.00% —
4.09%

—14 -

s

s

[ NRE [RE
—E-NEFE ZF2-=F
~A +=A
=+ =+-8
(REER) (BER)
FET T
5,400 5,630



15. BBALRS

5% A f B B 5 SR Al B8 20 BT 0 8 1) BRI N L 58 5 S S R A1 > TR AT > A R A B L
i NS o AR R IR

(a)

(b)

FTEEEAEME

AEE EEE A B O A o R B EEE ER E

E L]

BERBALETHRS

HE LT A Al Z I A
— B HE U BCHK A AR A A

LA 24 7 6L S 2
— AR 2 SRS

[ DL 2 /] SR T4
— B HE U BCHK A AR A A

[ DL 2 /] SRR
— PERLS BRAS M A R ]

o] DL AN S A4
— A E LE

PUATIE SRR B R A

AR 4

— 15 -

BEAA=+BLEAEA

—s-mE
(RBEZ)
S

432

e

(REEHER)
T

1,197

BEANA=ZtHLEANER

e .
(RIEFR)
FET

437

189

263

60

41

—EF =
(REEHFZ)
T

435

292

290

60

41



16.

(c) EERAEE A LHVAEER

R-B-—ME  poF =6
XA=+E FoA=t A

(REEXR) (K8%H%)

FET Titsoc

HRFEDHAZBARLA 283 325
O i (KEAT U ) A PR W 4,737 4,737
R RTE 22 A A PR A T 709 -
5,729 5,062

BEHPREE

TR A T 2R A C R M 2 w2 AT RE 1% B ST A =07 B
WE T - LA e R 0 5 T 1 3 [ A — [ 222D B AT 400 1 30 J 2 SEHEIG I

~16 -



BERENWE D
Bt %5 O B

e T FE-WUEANHZTHIEAMEA > AEEEEFHA £572,600,0004 0 > 88 —F
— ZAE[R M R FRA)9.2% o 5 SEEE T [T B R RN S8 T i R AR E o

ALEEZ BRI REH T —Z4F458% FEERE —“F—WENSH =+HIENHE AL
5.2% > FEBSE W AR S TR A N -

HAb W A B = — =4 49200,000% cE M EHRE —F—WHENH =+ H LS AL
500,000 JC > 3= B S8 H A BE 5 0 25 484 im0 o

AR H T F— ZH49300,0008 0 EFHEESE T FE-UAESH =1 HIEASMEA A
400,000%5 7C » F= B i A sy b A K e B 2 B B T o

TTHBE S i =& — = 4912,900,000 T P 28 E —F—W4ENH =+ H 1B/ A
H #18,800,0004% 7C > FE WY B T A DL SR M 28 )b -

E 3 3C1)

REEmFER

F A 2 BRATY 52 KE T8 T AR B - WA i il S5 Bk AT e 1 o [R] IRy - BRI B S B A 375 14 R
C RT3 QPR YIN G CORR N N S U ISP SR D

A 572,533,000 00 ( & — =4F 1 779,995,000 %) > W.09.3% o 518 R EE K B
1,633,000% 70 ( —FE— =4 : %2,332,000457C) °

17 -



VWEKREXH

R E AT AREEUE— B R TSN EREY > DIERFH S URA - BHA
AL E A B Y 2 G ZEHS B SRR A F598,0000 00 ( B —=4F ¢ ) > IRR A B
144,000 70 ( & — —4F @ M) -

ViR 3

FE A B A 22 BRSO S RS N ikl SETHILI A BT R > TR 2 HP A iR
R £ T o i A iR SE R MR ATt > AN 5 B B RS A B i ) € B RS ) -

AR A = B AR B B e R B AR A IR LT S A R E
S Tih itk A MAC A7 % 72 2 I L v A6 07 A 9 Do s A R ¥ ) P S 2 - X ) SE B IE
TE SRRy (BRI G > MR T — DU AR AR I B 4R 4 3 o T % WSO Y Se R4
— [B1 51 7R 1 A S0 B A AL

AR —PUAE ] A OS H o A 1 BRI 5 i B R A R R A AL
o8] 7258 25 9 A v 6 7 B % [ 20 TR TS 1) O A S R LA HL R A AR T B R R A
Bk o B4 ALE — E AU TS T SR A A

J T A PUAEE o A R R BB R A 2 AT RE B BB LS =T
(Fp Al — H =D BEA 400 % 5 2 SR ) & B e -

Bl 3=

JRRAE > A Bk KE 51 4= TE A7 SR 70 T PR o T3 w0 19y 55 TRAS b ok S A - K
R SEB e AR T L

JEEEORAC » 7 B2 [t ) ot S R e S I A PSS - A R 2 S A i
76 o 7 B A A L I G S B RA 5 42 O i A RS R A A

A B AN VR » 525 ORI 500 5 B e — A 40 5 £
5 WIS 3 <

— 18 =



RBES  UKER BERVBEE

ATE—VENH =B AREE D RIEEA BT LI 44558 4)57,600,0004 70 (A —
FE—Z4FE+F T H=1—H : 423,400,000 7C) S 55 B ERAT 18 2K 4138,400,000% 7T (v
—E =+ HA=+—H : 35,700,000 IC) °

A TEFE—PHENH = H o AREBEEEA B EE £129,200,000% 0 ( —F— =44+
H=+—H : 87,100,000 7t ) K it # & 15 %185,700,000% 7T « ( —~F — =41+ — /]
=+—H :84,500,000%:C) o

ALEH EHEE 5 EELARUANREE (T ARE D £5u( =T ]) ksl
{5 -

EERMELR

AN TR —PUAENH Z O H o AREE 2 G E B AE HR (DU AR R B A AR 2 el
B)H - F =1+ _"H=Z1T—H32.0%W"»%152% °

BEXRGER
AR A A A i 28 AR ARL A
EARBREE

BRA N B ER A0 - R ZF —PUAEN A = A FRZSE > A 52 8 5l S A R s i
Lt B

SN L B

AL 1 P A 28 2 BT R~ T sl R e ai(E -
HREE

R TEAENA = H o AL EN R KRR AR -
BERFMBUR

A B PUAES H = H o AR AR R R B R A S R 4939144 B T o ARG BN AN Y
18 B 3P (G145 38 =1 4 ) 55 4912,426,0009 70 o AN R B IR 4F 1 K 330 B 4FE A
SR B 35 S 38 B IR B - A< 4 B IS MR 45 A 4 13 1 B 5 3 B i o S IR 5 DR ) A 4R T
1 B 4% H W e T AE 4L o

19—



BEWREE

AR O AR R TH 2 R O T W A B S EORLRR R 16 o
BRERDAERENAR

A B s AN R RS 147 TR B R DURA B A

47,867,000 BEA N 7 By LR & 4 o Tt B8 A0 19 BT 45 3 VB 13 B 22 £ 149,506,000 35 7T
(FNBRECEAN 4 SR DA B 2E R HAE) - A B Ir 5 sk JE 48 DA T 51 5 U

RN BE

& EE RS

T T

— A N e R 149,506 102,934

EERAQFAREEBEENRG HERORESTHNESRKXR

ACEWEANA=ZTH AR A ER L EETHAR RS AZ BB AN (ER
TR R MR S A A ] BRCHAT AT AR B T (O 5 A MR IE 0156 571 = o W B Ak o
(T RE 77 BB AR 1) 5 XVER) B A ~ AR B I 4 S A8 25 vh A B WAL 25 B A2 47T )
R I S R G 9 68 XV AR 55 7 S 8 53 R JEU RN B AR % W) Bk 22 Fr B d Je IR A8 (A4
RIS I3 L2 S B Ak 911 [ Ak S 2 3 A A e 23 AT O R 2 SR ) 5 B(b) IR
15 8 75 S G 91 565 3520 KR 7 ZET T Bk IR % A 1 BT i S R A RE 2 JIR O 5 Bl(ofR
5 BB R B i BT B AT N S AT R R 58 b AR HE ST U JE e A 8 ) B 2 P
P A A R i BUR A o

AN A =+ H o MR A AT sl A 2w By 2 B IR -

~20 -



FERR

= AN A = B R BB AN 2w A SO B B A o A RO Bk R AR
5 77 M B 00 S5 33645 i A7 B 2 5 RT M 2 ME A BOR AT © BR T SCRT R 0 4
CANRIS: = i 51 P 6 R 0 85 NG o N N/ e G R ) R e S R ST 2 N 531 o
W BRI 336 ML E A7 B 2 8w i 2 M 4 SR

TERREE BERHHE
TIEERA IR F (Bt 1 K 2) 179,407,488
JA R (BfRET) 179,407,488
BT (B2 179,407,488
it

&6
£k 2PN
AR AR

AR AR

EARATE BT
IR AN 48 21 A9 AR 49
Bo

(BfiE3)

62.46%

62.46%

62.46%

1. RIERE S LI B 5E3366 R E A B 2 Bt 2 40 8% > 1A TR 7 B 88 47 AR
2 50% H JE f HE S A e o DR G S HE S A B B A AR A 179,407,488 LA 1oy TR Bl

AL o

2. ARPEEESE M EBIEIMIREF B SR M 2 A Bk > TIIB A IR A B 83 TR
Z50%H BT AR o [RGB TS S AR A B A AN A H) 179,407,488 % B Ay R BiEA

fEd o

3. AMHEERBAAFR -F—4ENH =+ HE 8172 B 488 (Bl1287,206,000/% ) 1F

—~21 =



BRENBRESS

Aoy wl 2 SRR E) ([5HE D R —FF /E+— A N AR R SR R AN -
HAE 5 E\AE b A oS H SR AR AR R R wt B ) 2 W TRORE i R AT O o R A
B THE PSRN A = H RIS A A A B i~ A7 S A

EENENNER
AR LTI AR ) A T 0 Rt I ) 2 R e A R K BRI U 38 B 2 3

G > B MR AR 2 R mCHAT AT B B 2 ) P B 2 W) BT AT S 22 R (] R A ] A R
1] e 300 ] P9 A B (7 208 2 TR 30 PP B e R A T R A -

BE #HEIERKRG

BWETFENHA =+ H AR A - A A sl HAT AT B8 23 w20 A B~ o B
(8] AR 2% ] AT AT BB 43 =

EER

EHR S BRI E A > AR FRIEE —F AN A = H IR A EE
JELST A b TS BB k- P A S8 RS AU (TS8R ~T I ) B <7 RIGESC -

AR A S <7 HIGR SCEBE. 1. 216 > 3 g 8 2 35 B L R RO RO 47 R ([ IR 4 K
1) WHRGEHFZZ B G  Hrix B a R4 T B LW H R - R0 ) =% —N
FAA TR BETHRFEF R F-WFERREFERE]) B B5NE
T TR A A 255 11 R B S R o I RAT — A AT I AR 4 T AR BOR
AR > 3 [0 & R B A ARS8 IR 2 fR I - SR <F AN SUER AL6. T RT
W - M 57 JF AT S S L R RO el A T RO R o WS R AT R R
B TR R HADF B R e th S % — DU AR ORI A R e o

A TR I AT 0 0B R R ICHE 08 < AP

—_22 _



BEREES

AN EE RSB AZZE B o MRS B iR P R R R L E R
FAL AR BA N A 2 ) R AR el B R B DL IL ) 3 2 fe (8 L S ek - 9%
BB BEAAEBZ NSRSy - L B ah =28 rESR A
5T HESEAE (RN ~ TR Se Akl s 29 S R A

FE B GO RHEE T —VAEA A = 1 B IE A 2 o 40 B T e
EERTRERS 2T

A0 7 BB TR BB BT A R A BT 2 B T8 T A SO TR 5 5 2 A
S S (RS ) ) 5 2R 25 ) 7 38 205 5 A5 B 2 A 5 < o 66 1 ) LA 25 30
o RS RER E RE B IR A A = H kAR A 0 B R T R S
B 51 2 1 e ) o

Al EHRA AN Al R B8 2 BB BURE R 2 1R B > IR JH B SFAS U A HE <7 R 3K B 7R
ZFE5] e
K A
EEXEARERLE
B3
T8
His > —EF—ENA - +—H

AR H I > A2 Al B AT M T 50 B 2K RE &t~ SRS 8 S 2k I S e B
E 5 RO Al r A TR Sy iy T TR R E Sk

_23_



